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Name Description . Size¥* Range*
signed: -128 to 127

char Character or small integer. 1hyte unsigned: 0 to 255
short int L ) 5 signed: -32768 to 32767
(short) Short Integer. Zbytes unsigned: 0 to 65535

signed: -2147483648 to
int Integer. 4bytes 2147483647

unsigned: 0 to 4294967295
signed: -2147483648 to
long int (long) [Long integer. 4bytes 2147483647

unsigned: 0 to 4294967295

T
E
N
E
2
T
=
2

boo] Boolean value. It can take one of two values: true

- or false. 1byte true or false
float Floating point number. 4bytes +/- 3.4e +/- 38 (~7 digits)
double Double precision floating point number. 8bhytes +/- 1.7e +/- 308 (~15 digits)
long double Long double precision floating point number. 8hytes +/-1.7e +/- 308 (~15 digits)
2ord

wchar t Wide character. 1 wide character

bytes
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TeAeoTec - Operators
]

v ApleunnKOI (arithmetic)

+, akEPAIO TTNAIKO, % aKEPAIO UTTOAOITTO

v Auénonc (increase)
++

v Msgiwonc¢ (decrease)

T
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E
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T
=
2

\/Arrodoang rlung (compound assignment)

= 4=, -= *= [= 0

v 2uoyxeriorikoi (relational and equality)
<, > <= >= == 1=

v  Aoyikoi (Logical)
&& (and), || (or), ! (not)
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Avabeon N ekxwpnon N Kataxwpenon

v year = 2012;

T
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v int year; cin >> year;

vi=1+]1;
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T Precedence Operator Decscription Accociativity
1 - Scope resolubon Le ft-to-nght
E ++ - Suffix/posthixincrement and decrement
il Function call
/\ 2 [] Array subscnpting
Element selection by reference
E —x Element selection through pointer
+H - Prefixincrement and decrement Right-to-le ft
Z + - Unary plus and minus
- Logcal NOT and bitvase NOT
T [ type) Type cast
3 = Indirection (dareference)
E & Address-of
sizeof Size-of
Z new, new| ] Dynamic memory allocabion
delete, delete[] [Dynamic memory deallocation
4 - Fointer to member Le ft-to-nght
5 = /% Mutbphcabon, divazion, and remainder
C ] + - Addtion and subtraction
7 << P Bitvase left shuft and nght shift
A g = == For relational operators < and = respachwely
= = For relational operators = and = respechwely
S ) == I= For relational = and # respechwely
1o & Bitvaze AND
T 11 - Etwase XOR (e xcusive or)
I 12 Eitwaze OR (indusive or)
13 el Logcal AND
N 14 Logucal OR.
7 Ternary condibona Right-to-left
G

= Direct assignment (prowided by default for C++ dasses)
4= —= Assignment by sum and difference

13 == = %= Assignment by product, guobient, and remainder
TE= Fr= Assignment by bitvase left shift and nght shift
= = = Asmignment by bitvase AND, XOR, and OR

16 throw Throw operator [for e xceptions)

17 . Comma Left-to-nght
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int m, k=1.5;

float x;

m=1.6 +1.7;

m = (int) 1.6 + (int) k;
X = (int) k*k;

x = (int) (k*k);

// To m ylvetal 3, 6nA. TO OKEpPAlO MEPOC Tou 3.3
//To m yilvetal 1+1=2
// 1*1.5 = 1.5, dpa to X yivetal 1.5
// 1.5%1.5=2.25, d4pa to x yivetal 2.0




. [TapadeiypaTa
.,

inti=1, =2, k=3, p;

float x=3, y=5;

I+j/x*y ?7?

T
=
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=
2
T
=
2

Kij*++y ?7?
Y, X++, X ??

J>I&&IX>=--y ?7?
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I') No exteisi kot va extonoval T 4 apBuntés mpalec petalld tous, kabdc Kot To aképaio
TNAIKO KOt TO VIOAOUTO NS MCPECT)C TaV aKépuioy Lep@v Tov.. Osmpiote 2 dexadikd
Y@t Yl TIC EXTOMOOELS TOV UTOTEAECUATEV.

Axoiovbel mopaderyua embupnTHC CUUTEPIPOPAS TNC CAATAETIOPUCT|C TPOYPAUUATOS —

T ATKHIH 3.2

= Yiomo|ote mpdypol TO OMOLO:

A A) Nﬁu SNTE amo TO YP1GTN VO TPEYHaTIKOUS uIPIEIIuDu.; OTO O1GCTT M [IICI.]DCI}. TpETA TO
UEYUADTEPO KO PETA TO pxpdTeEpo. Ao Tov: 6MaEt o ypriom: (BeopioTe, Yo Tig

E EKTUMMGELL 0Tt 01 2 apifpol Epouy Gynelo TKEPUID LEPOS KO LOVOWTQI0 OEXNMKO NEPOC). TO

5 POy poLLLLL:
B) Na amovtd mo6co eivon T0 aKEPAIO LEPOS KO TOW0 TO HeKadike PLEpoC Y1 KubEvay

T OV OADTIKG.

yprom:
C PMoTn
A Please enter the bigger of the two numbers:
S 48.7
Please enter the smaller of the two numbers:
T 18.3
| The integer part of 48.7 is 48 and its fractional part is 8.7.
The integer part of 18.3 is 18 and its fractional part is 0.3.
N 40.7 + 10.3 = 51.00
G 48.7 - 18.3 = 30.486
48.7 x 18.3 = 419.21
48.7 [ 18.3 = 3.95

48 / 186 = 4 and the remainder is ©




